Laboratoryjna diagnostyka medyczna, wiosna 2018 roku - klucz odpowiedzi

Nr
pytania

Prawidtowa
odpowiedz

1

C

Nr
pytania

Prawidtowa
odpowiedz

41

B

Nr
pytania

Prawidtowa
odpowiedz

42

81

C

43

82

44

83

45

84

46

85

47

86

Ol|IN|[O|n]|B_|WIN

48

87

[ER
o

49

88

[y
[EEN

50

89

[ERN
N

51

90

=
w

52

91

[N
o

53

92

=
ul

54

93

[ERN
()]

55

94

=
~

56

95

=
o

57

96

[
\e]

58

97

N
o

59

98

N
[

60

99

N
N

61

100

N
w

62

101

N
N

63

102

N
(6]

64

103

N
(e)]

65

104

N
~N

66

105

N
co

67

106

N
(o)

68

107

w
o

69

108

w
=

70

109

w
N

71

110

w
w

72

111

w
S

73

112

w
(0]

74

113

w
(e)]

75

114

w
~N

76

115

w
co

77

116

w
(o)

78

117

N
o

OO0 O|m|m|O|mMme|mMm|@|O|m[O|m|>O0|O|lo|>|m|le|>|ommmm|OlO|@|(>|m|O|>|w|Oo|>|m

79

118

80

>lI>|lolo|lw|lo|lo|lolmm|meo(m|>|m|>|w|o|O|lwo|m|[O|o|>|m|>|o|lw|>|o|>(>|m|>|o|lm|lo|>|w

119

120

o|lo(>|m|lo|>|om|m|lo|o|m|>|O|0o|lw|>|O|lw|o|o|O|>|O|m|Olo|>|w|>|O[m|Om|eo|O|O|X>|0




